K- B3 S (3IH) - NEAY - Ba 2 Lo e HRZ2

ol A =X 2 33,237,544 31,704,812 1,532,732
= 19,753,450
J| 299, 460
= 348,560
= 4,268,476
Al 8,567,598

P22 22 € X 1,785,360 1,360,915 424,445
== 580, 100
Al 1,205,260

SEANE X4 1,580, 100 1,230,000 350,100
= 580, 100
Al 1,000,000

S A 2te] 1,580,000 1,230,000 350,000
= 580,000
Al 1,000,000

401 AIEHIZL 204 1,580,000 1,230,000 350,000
= 580,000
Al 1,000,000

01 Al&HI 1,674,312 1,225,086 349,226
OxFz22d X 1,574,312,000& 1,574,312
= 576,346
Al 997,966

03 Al S0ibI 5,688 4,914 774
OFE2 B X4 1,580,000, 000& *0.36% 5,688
< 3,654
Al 2,034

HERSA X2 100 0 100
= 100

307 QI2tolA 100 0 100
& 100

02 0I2tFAE X 100 0 100
OSERTX X2 A 100
o= 100

CH 243 X2 205,260 130,915 74,345

SCM 2435 X 205,260 130,915 74,345




S OISR D
Hai: 2 22 2o Y X
o9l 2R 2483 X8 (E49: & 2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
101 QI4Hl 960 1,115 A155
10 JIZH2ZRNELS 960 1,115 A 155
OE=g 2 2FLX I 960,000 960
201 ereoty| 9,000 12,000 A3,000
03 A2 9,000 7,000 2,000
OHEY ZEHA N 8,000, 0002 8,000
OBZEDYYNH HA X2 1,000,000 1,000
01 YerEAZ 54,800 43,800 11,000
IIEECEEEE 28,000 20,000 8,000
OHZY ZNRTA HR2Y
20,0002 *1,050% 21,000
ORINRBT Al N 7,000,0002 7,000
10 A A 26,800 23,800 3,000
OB XM 59 A BAK YIS
1,800,0002 1,800
OFMN = HMX MHIBA 23,000,000 23,000
ORNRB 2OHE)SS #A AKX &
HERN, 1,000,0002! 1,000
OBSUMA BB B MY B4
1,000,000 1,000
307 QI2H0IF 75,500 70,000 5,500
03 ASSHEXZ 75,500 70,000 5,500
O &0I2 Y3l ALRAIXIS 21l X8
11,000,000 11,000
OUBHESRARES AFAIXIE 22|
k] 11,000,00024 11,000
OUSHSRA0ILLIE AFAIXIE 28|
] 11,000,000 11,000
OB RTLEXE ABAIXE 258 X
2 11,000,000 11,000
ODAMHLE ABAXE 2l XA
8,500, 0002 8,500
OAEAl 6.258HRTBAS 2| X
8,000,000 8,000
OAEA HHZRRIBXE 2l N
2,000, 0002 2,000
OAEAl HEZOIs X 10,000,000 10,000




SN F
HH: 2} 95 o
=
4

chel:

SN EE - ER(EN) - NRAY - BaS sl e HlRE2
0 & 24
OZ=3 satdd N2AHEXE X
3,000,000& 3,000
401 AIEHIZLROHY] 65,000 4,000 61,000
01 AlI&HI 65,000 4,000 61,000
OANE=ZE2X &g=2 F| 50,000, 000& 50,000
O=g - 2I"3A FHMZE &X
50,0003 *300H 2 15,000
MBI =XIDIgH 24 6,084,240 4,515,644 1,568,596
= 2,159,439
&2 246,039
= 945,247
2,733,515
Hed2 0l |I& 76,913 72,369 4,544
Hed2 0l /&2 25,000 25,000 0
301 etz 25,000 25,000 0
01 A2 H =03 25,000 25,000 0
OAt2IEXIAIE & 2 A2 =2 25,000
od . =4 . HY 25,000, 000& 25,000
MEI=XD1EE 24 K& 51,913 47,369 4,544
201 Lt 17,000 12,000 5,000
01 AtR2teld 15,000 10,000 5,000
oYL=l 11,000,000& 11,000
O=gtl 4,000,000& 4,000
02 223244l 2,000 2,000 0
O AHA 2,000,000& 2,000
202 Oddl 30,913 31,369 N456
01 =LAl 30,913 31,369 N456
O22=Z 0l 30,913,000& 30,913
203 HERF=4H 4,000 4,000 0
03 AHMFIHRFA 4,000 4,000 0
OF2ZAEHE g2FA 2,000,000& 2,000
QZHM=R HRFH 2,000, 000& 2,000
MISEXHE 4 640,592 169,032 471,560
= 21,235




SN FOIMET D
B ARSI =08 E 4

ol ASIZ X XHE S4 (£l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
NSRS S5 = 20,418
Al 598,939
=XEoH 2 13,080 15,295 12,215
201 Y2yl 9,600 10,000 £400
01 Ar222lt] 9,600 10,000 400
CEEER=Y] 9,600,00084 9,600
301 YerEaa 3,480 5,295 ~1,815
10 BAAHIE &S 3,480 5,295 A1,815
OMSISXEAH NS L 50 FHAX &
bl & 2,400,00094 2,400
OABI=X AREOH SANS AL &
bl & 480,000% 480
OMBISXEAN & SXIAS & ZHOIR
Al 600,0002 600
RS A 245 A 22,000 21,200 800
= 11,000
Al 11,000
301 YerEa3 2,000 1,200 800
= 1,000
Al 1,000
10 BAAHIE A 2,000 1,200 800
ORAZSAR 014 2,000,0008 2,000
< 1,000
Al 1,000
307 212+0| 20,000 20,000 0
= 10,000
Al 10,000
03 ABIEHEEZ 20,000 20,000 0
ORHEZSAR 243t X 20,000,0002 20,000
= 10,000
Al 10,000
K2 A BCIUIOIE XIS A 30,471 29,896 575
2 15,235
= 7,618
Al 7,618




UM E XA
CARISEXDE &4
CARIEXNE S4

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
101 124l 30,471 29,896 575
= 15,235
= 7,618
Al 7,618
10 JIZtHZ2Z2NSEs 30,471 29,896 575
OXASAL ZCIHIOIH XI& A
30,471,002 30,471
= 15,235
= 7,618
Al 7,618
NASAA B2 X 12,000 8,814 3,186
= 6,000
& 1,800
Al 4,200
307 glz2told 12,000 8,814 3,186
= 6,000
& 1,800
Al 4,200
02 QItFAE X 12,000 8,814 3,186
O SAR EHZ K& 12,000,000& 12,000
= 6,000
& 1,800
Al 4,200
N SAHEEH A= 450,000 0 450,000
401 A&HIZ204YI 450,000 0 450,000
01 A&l 438,255 0 438,255
OXNESAtHE &= 438,255,000& 438,255
02 Zeltl 8,505 0 8,505
OXNASAIHEH &= 450,000, 000& *1.89% 8,505
03 A& 3,240 0 3,240
OXNASALHE &= 450,000, 000& *0.72% 3,240
S AKX A 113,041 93,827 19,214
101 el | 10,641 19,413 N8, TT2
10 JI2ZHH220sSEs 10,641 19,413 N8, 772
OXNASAHEH 29 10,641




SN FOIMET D
B ARSI =08 E 4

Sl ASIZXINE §4 (5l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
col=g 32,0002 +12 2332 7,456
oFERAY 32,0002 +12§ x482 1,536
o=0INZ S 4HBHE 8,992,000 %13% 1,169
o R4 g 32,0002+ 152 480
201 LPr2 Yyl 11,000 9,300 1,700
01 AFR2elt] 3,500 2,200 1,300
oL+ 8| 2,000,00024 2,000
o2y+g 1,500,0002! 1,500
02 ZT2Y| 2,500 2,000 500
CEES==LI ] 1,000,0002! 1,000
Oxt et 1,500,0002 1,500
03 A2 5,000 5,100 A100
OXREZAR =N 7Y 5,000,002 5,000
01 YprEaZ 20,000 0 20,000
01 MIIZ2ZELHS 20,000 0 20,000
OAZS 2R LDl 15,000, 0002! 15,000
OO0 SHH (RIS o) eptat X &
5,000,000 5,000
307 eI2t0IH 71,000 49,000 22,000
02 PABYBE 27,500 37,500 210,000
OXZSAME 2| X2 3,500,00024 3,500
0SS NASA 2SN 14,000, 0002! 14,000
O0SSS HYRK L NASAX HAX
AlYI X 2 10,000, 0002! 10,000
03 MESH2ES 6,000 4,000 2,000
OAEAl HRZAECE X2 6,000,00024 6,000
04 BIAABE 37,500 7,500 30,000
OXNBEAR 02 S0HSHS
7,500,0002! 7,500
OFUSK sl #A N 30,000, 0002! 30,000
402 QIR+ OIF 400 0 400
EETEREL] 400 0 400
ORBEBAXOILX SR ALY R 22
400,0002! 400

_6_




SN FOIMET D
B AS|= 0|8 K4

chel: FOjOl = X=X LR
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
ZOHI=XSE 5,366,735 4,274,243 1,092,492
= 2,138,204
246,039
& 924,829
Al 2,057,663
=g 1,966,350 2,319,880 A 353,530
= 1,376,445
Al 589,905
301 ptEasg 1,966,350 2,319,880 A 353,530
= 1,376,445
Al 589,905
01 A2EA53 1,966,350 2,319,880 A 353,530
OFM==(2,2659) 1,966,350,000& 1,966,350
= 1,376,445
Al 589,905
ZOHel of=Hl XI& 35,108 33,062 2,046
= 28,086
Al 7,022
301 ptsazg 35,108 33,062 2,046
= 28,086
Al 7,022
01 A2HA=5=3 35,108 33,062 2,046
OZ0el 2l=Hl XI&(183Y) 35,108,000& 35,108
= 28,086
Al 7,022
ZoHe!l Xtid &hdl X1 8,266 9,782 21,516
= 6,613
Al 1,653
301 Lptsazg 8,266 9,782 A1,516
= 6,613
Al 1,653
01 AIE2HE =53 8,266 9,782 21,516
OFOHel XHEH XA (7Y) 8,266,000& 8,266
= 6,613
Al 1,653




SN FOIMET D
B AS|= 0|8 K4

chel: FOjOl = X=X LR
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Zoots=H k= 126,430 105,087 21,343
= 88,501
Al 37,929
301 erEa= 126,430 105,087 21,343
= 88,501
Al 37,929
01 AIE2EHE =63 126,430 105,087 21,343
OZHOts 2L==(66Y) 126,430, 000& 126,430
= 88,501
Al 37,929
el SEXHH XA 2,400 844 1,556
= 1,200
Al 1,200
301 Lptsazg 2,400 844 1,556
= 1,200
Al 1,200
01 A2 H =0z 2,400 844 1,556
OZe sEXCEHl X& 2,400,000& 2,400
= 1,200
Al 1,200
HeEZel st 8,800 8,800 0
o= 4,400
Al 4,400
301 Lptsazg 8,800 4,800 4,000
& 4,400
Al 4,400
01 A2 HE=xdl=z3 8,800 4,800 4,000
OWAZML JIsss s 4,000,000& 4,000
< 2,000
Al 2,000
O=SHLZ0 Satdl XA 3,000,000& 3,000
= 1,500
Al 1,500
O=3HLEML 2HHE FHSHI X2
1,800,000& 1,800
= 900




SN FOIMET D
B AS|= 0|8 K4

chel: FOjOl = X=X (ol a e
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Al 900
HEZfelss HEE 29 N 30,000 30,000 0
& 15,000
Al 15,000
307 QIt0IA 30,000 30,000 0
= 15,000
Al 15,000
02 QtFAE X 30,000 30,000 0
ONEEN HUF 2 N
30,000,000& 30,000
= 15,000
Al 15,000
ZOHITHEE XD 2N & 3,846 4,428 A582
= 3,077
Al 769
301 erEa= 3,846 4,428 AB82
= 3,077
Al 769
01 AE2EHE =63 3,846 4,428 2582
OFOHC! HEEZI|7 XA (31Y)
3,846,0008! 3,846
= 3,077
Al 769
ST 8SEAHN ¥ S22 E= 15,320 9,320 6,000
& 7,372
Al 7,948
301 LetEd= 15,320 9,320 6,000
= 7,372
Al 7,948
01 AE2EHE =63 15,320 9,320 6,000
O=SHMHY dsEHMAH X2 14,360
o282 AHMIIs FHoH(20%) 8,360,000& 8,360
= 4,180
Al 4,180
oMAS UWEIIZ Z0H(3Y) 6,000,000& 6,000
= 3,000




SN EOIMBTAD
NS PITE 2=
o9 FojoI= S

SA BB CR(SH) - NRAY - A S Aol e 2t
Al 3,000
ONES 2IZ2E F(16Y) 960,000& 960
= 192
Al 768
o2 2l X 7,177
= 5,742
Al 1,435
301 YEtEa= 7,177
= 5,742
Al 1,435
01 A2 E=xdl=3 7,177
OZOHAEXHT 2H| XA (183Y)
7,177,0002 7,177
= 5,742
Al 1,435
ST NSHSXE AIHAS 304,770
& 121,913
Al 182,857
307 gQiz2told 304,770
& 121,913
Al 182,857
05 QIZtREZ 304,770
O=SHOHe Ttg ME X& 22,542,000 22,542
& 9,021
Al 13,521
O=ZXe =<0 W3 24
282,228,000& 282,228
& 112,892
Al 169,336
SSEOMHL F=AHEE W2 ALY 28,000
= 18,000
& 3,000
Al 7,000
402 QIZEXE01H 28,000
= 18,000
& 3,000




SN FOIMET D
B AS|= 0|8 K4

chel: Zojel= XS CRE-E)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
402 SIZ2HX =0l Al 7,000
02 QIZtCHEH AL HI 28,000 10,000 18,000
OZZZM FHEZIME AL (2017)
10,000, 000& 10,000
< 3,000
Al 7,000
OA+2 IHHE ZO0Hel 2 2L0HI1(60M
) 18,000,000& 18,000
= 18,000
oI =X Xl AtS 30,280 15,351 14,929
= 15,140
= 7,570
Al 7,570
101 Q24| 30,280 15,351 14,929
= 15,140
& 7,570
Al 7,570
10 JIZtH2=2AsSE=+ 30,280 15,351 14,929
OFOQI=X LXtelAtd (20F)
30,280,000& 30,280
= 15,140
= 7,570
Al 7,570
ZOHI=0IXXIME =<0 K& A 66,690 22,410 44,280
= 33,345
L= 16,673
Al 16,672
101 @IAH| 66,690 22,410 44,280
= 33,345
& 16,673
Al 16,672
10 JIZtH22AAsSE=* 66,690 22,410 44,280
OXOHC! FXXIME SR01 XA(6YH)
66,690,000 66,690
= 33,345
& 16,673
Al 16,672
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SN FOIMET D
B AS|= 0|8 K4

chel: FOjOl = X=X LR
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
SHs JHS =0/ XX 51,300 21,600 29,700
& 20,520
Al 30,780
101 el 51,300 21,600 29,700
e 20,520
Al 30,780
10 JIZtH2=AsSE=+ 51,300 21,600 29,700
QX0 =<0/ HiXl XI& 51,300, 000& 51,300
= 20,520
Al 30,780
SOHE ZOHY F=EIHEZALS 49,400 49,400 0
= 24,700
= 12,350
Al 12,350
402 QIEXE01H 49,400 49,400 0
= 24,700
< 12,350
Al 12,350
02 QIZtCHH A HI 49,400 49,400 0
Os0E HHQ FEHIHEAL 49,400,000 49,400
= 24,700
= 12,350
Al 12,350
ZOHQIEHOYAIE L HHIX&A 1,320 1,320 0
& 660
Al 660
301 Lptsazg 1,320 1,320 0
= 660
Al 660
01 AI2HE =53 1,320 1,320 0
OFAZOROl FNTEIIS 22
1,320,000& 1,320
= 660
Al 660
ZOH I R E =X ALY 672,460 127,255 545,205
= 443,842




SN FOIMET D
B AS|= 0|8 K4

chel: Zojel= XS (sl &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
ZOHQ L H SR ALS = 70,126
Al 158,492
307 glz2told 672,460 127,255 545,205
= 443,842
= 70,126
Al 158,492
05 QIZtREZ 672,460 0 672,460
OZ0HQ! Atsl&s XI&(79Y)
538,060,000& 538,060
= 349,762
= 49,966
Al 138,332
OXHOtS MEXZE A (56Y)
134,400,000& 134,400
- 94,080
& 20,160
Al 20,160
ZOH QR K& 17,000 17,000 0
& 8,500
Al 8,500
301 YBtEaz 17,000 0 17,000
& 8,500
Al 8,500
01 AME2HEES063 17,000 0 17,000
OAIZEOHR! Iz ME W= 5,000, 000& 5,000
= 2,500
Al 2,500
OQXOHStA g2t gelstn 243
12,000,000 12,000
< 6,000
Al 6,000
FOHel SXAIE XI& 830,024 520,024 310,000
= 211,739
L= 116,100
Al 502,185
301 YEtEa= 150,024 0 150,024
= 33,119




S A
X XH .
(=

chel:

Z0IME T 2 Dt
NEEVBIITEL
S EIEES

SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
301 YBtEa= = 20,100
Al 96,805
01 AMIEBEHESHZ3 150,024 0 150,024
O3ty 2 64,535,000& 64,535
= 15,313
< 6,100
Al 43,122
OZMR FEHH 23 55,489,000& 55,489
= 17,806
= 5,000
Al 32,683
o BHAANEL XNAHH 29
30,000,000& 30,000
= 9,000
Al 21,000
307 gIz2told 630,000 520,024 109,976
= 178,620
L= 46,000
Al 405,380
05 CIZtREZ 630,000 400,000 230,000
oOFMeI=X2 23 630,000,000& 630,000
& 178,620
< 46,000
Al 405,380
402 QIZFXE0lH 50,000 0 50,000
& 50,000
01 QtR=8=x 50,000 0 50,000
OZOMRIIEXNAHEEH SBMLAS
50,000, 000& 50,000
= 50,000
ZOHQIMEAE2AXR 570,048 569, 360 688
= 453,848
Al 116,200
307 2IZ2t0lA 570,048 569, 360 688
= 453,848
Al 116,200




SN FOIMET D
B AS|= 0|8 K4

el FOHI= XS (9l &2
SN HB G (BH) - MRAY - BES Aro e Hlm= 2
02 BlZtFAE=X 570,048 569, 360 688
OO MEAE 2L (1IHA)
562,748,000& 562,748
< 450,198
Al 112,550
OHOHUMEALE B Ot
7,300,000& 7,300
< 3,650
Al 3,650
QI MEA LD I sEZ 187,026 40,000 147,026
= 93,513
& 46,757
Al 46,756
402 QIZ2EX=0IA 187,026 0 187,026
= 93,513
& 46,757
Al 46,756
01 BIZIRI=22 X 187,026 0 187,026
QT MEAL JIsSE 187,026
o=E - ME4A &X 169,652,000& 169,652
= 84,826
= 42,413
Al 42,413
oYSA MK U WS- HFD P
17,374,000& 17,374
= 8,687
== 4,344
Al 4,343
ZOoHe! XIGAMITHEAL JIsEL 34,300 40,000 A5,700
= 34,300
405 XH&HFESHI 34,300 40,000 A5,700
= 34,300
01 L =SSHEHI 34,300 40,000 Ab,700
OEMHEA WX F 34,300,000 34,300
& 34,300
HOHel FEHIIESAE 293 70,040 0 70,040
= 20,040




SN FOIMET D
B AS|= 0|8 K4

el DOjQI= X ST (649 &2

_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
Dol EEIBEAE 29 Al 50,000

307 QI2t0IF 70,040 0 70,040
= 20,040
Al 50,000
02 UABNBx 70,040 0 70,040
OO FEIISSAL 2 (1H2)
70,040,000 70,040
= 20,040
Al 50,000
04 QI K| 2 178,380 9,820 81,560
201 L2yl 2,100 2,000 100
03 A=Y 2,100 2,000 100
ORONQICl & AP EIIX XEAX
2,100,000 2,100
01 YuBAZ 8,280 16,820 1,460
01 ASIBEH2HI 2,000 2,000 0
OAZZOfOl BXTOIS & BFT 7Y
2,000, 0002 2,000
10 SAHAHIR A3 16,280 14,820 1,460
OXONIXICRICHEl EAX AHPA
800,0008! 800
OZNUZE OIS BAR AHI24
800,000 800
OR2S0LICHE] AT AblRa
1,400,0002! 1,400
OZOHOIIISHIIHEl EAR Y24
1,050,0002 1,050
OHZSO0IMSHE EAK AHI24
1,050,0002 1,050
OZOHAXIZIZE L AADS FHAK A
24 600,0002! 600
OZSZHONY =H 2Aal HAT AH24
300, 00021 300
OZHOID2T 25K HAX AbBA
600,000%! 600
OT0fe BSHEA(SHS) F&X A
24 600,000 600
ORNIBE KRR NIl & SAF EAK Al
24 1,200,0002 1,200

_16_




SN FOIMET D
B AS|= 0|8 K4

Erol: ZOYOIZNZA (£r9): & 2
(=] X XH cCtel (s =] (3] HA2 AFOH dE e =2}

OM 183 = MEMAH DtetEUS A It

pUISTE PN 600,0008 600
OFOHOIS MEBses FIIN Abl2a
1,200,0002 1,200
OA2LROHOl SIXIZOIOL SA BAX A
bl & 2,000,0002 2,000
OBOSXIAL SAK A& BAT Al
24 1,080,000 1,080
Os0tQl 45tmal 29 N 3,000,000 3,000
307 QI2t0lA 158,000 78,000 80,000
02 QIAHAEE 96,000 21,000 75,000
O OIEAl 2| N
1,500, 0002 20 * 122 36,000
OOl HERAME SHH|
15,000,000 4% J| 60,000
03 ASIEHE RS 39,000 34,000 5,000
OXMBOHQ AFEAIXIE 22| X
18,000,000 18,000
OAI2LROHQ AFEAIXIE 2| X
6,000,0002 6,000
O=0I0IEs ARAIXS 228 X
6,000,00084 6,000
OAMBNAI=XE AMAIXSE 28| X
= 3,000,0002 3,000
OFQALRE AFAXE 2HHl X8
6,000,00084 6,000
04 BIEBAIEE 23,000 23,000 0
OZOHQU=X SXHE X 20,000,000 20,000
OFMOIS=X STHE X 3,000,00084 3,000
ZOHQI=XIELE X F ] 50,000 0 50,000
401 A&HIZ=CHYI 50,000 0 50,000
01 A&l 50,000 0 50,000
OFMHAI=XELE 2 XIFH| 50,000,0002 50,000
2R 0AR2Y 2,000 2,000 0
201 Y] 2,000 2,000 0
02 BT 2,000 2,000 0
ORHZ L 2,000,0002 2,000

XS A dlE2el 20,000 0 20,000
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S A

X| ZH -
S =

Z0IME T 2 Dt
NEEVBIITEL

chel: FOjOl = X=X (ol a e
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
401 Al HIZ 20| 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OXNSATEHEH SBMLAS 20,000,000& 20,000
S| MBS H 23,333,576 23,548,391 A214,815
= 17,518,292
Il 299,460
= 2,743,129
Al 2,772,695
S| = MESE 20,298, 140 20,594,250 N296,110
= 16,043,128
= 2,089,806
Al 2,165,206
HH=N 15,676,250 15,676,250 0
= 12,541,000
= 1,567,625
Al 1,567,625
301 LerEA= 15,676,250 15,226,250 450,000
= 12,541,000
o= 1,567,625
Al 1,567,625
01 A2 E =03 15,676,250 15,226,250 450,000
OMHZ 0l 15,676,250
o 2bh(6,186H) 15,226,250,000& 15,226,250
= 12,181,000
= 1,522,625
Al 1,522,625
o A& (50H) 450,000,000 450,000
= 360,000
= 45,000
Al 45,000
MASSXE et HE 57,250 0 57,250
& 17,175
Al 40,075
301 LptBazg 57,250 0 57,250
= 17,175




SN Z0IME T D
Hm: 20| EMBEE
CHol: RO ZMBRE (et9l: &2
SN -HH - SA(B) - MRAY - BES 0f Ao ggi HRs2
301 YBtEa= Al 40,075
01 A2 HE =03 57,250 0 57,250
OMASERH HHats ME (253)
57,250,000& 57,250
= 17,175
Al 40,075
F=HEO 3,334,028 4,192,500 A 858,472
= 2,667,222
= 333,403
A 333,403
301 ptsaazg 3,174,028 4,032,500 N 858,472
= 2,539,222
& 317,403
Al 317,408
01 A2 H=xdl=3 3,174,028 4,032,500 A 858,472
OFHZ0 3,174,008
o gt 3,174,028,000& 3,174,028
= 2,539,222
= 317,403
Al 317,403
402 PIAX20IH 160,000 160,000 0
= 128,000
& 16,000
Al 16,000
02 QIZHCHEH AL HI 160,000 160,000 0
CESTELY 160,000
od= 160,000, 000& 160,000
= 28,000
= 16,000
Al 16,000
HAsEE UNEZS XA 511,028 0 511,028
= 408,822
= 51,103
Al 51,108
301 Lptsazg 511,028 0 511,028




2N 272
=R EME
=k e ol
HH . (3 H) - MBEAY - B gggf; HRS2
gt = 408,822
= 51,103
Al 51,103
INEEES 511,028 0 511,028
OMASE WX (4,242MITH)
511,028,000& 511,028
= 408,822
= 51,103
Al 51,103
ME=S=10; 320,011 457,500 A\ 137,489
= 256,009
= 32,001
Al 32,001
ug A= 320,011 457,500 137,489
= 256,009
& 32,001
Al 32,001
A3l & 320,011 457,500 A 137,489
on=sz 320,011,000& 320,011
= 256,009
== 32,001
Al 32,001
= =324l XN 56,000 0 56,000
= 28,000
Al 28,000
Usreg A 56,000 0 56,000
& 28,000
Al 28,000
EE 56,000 0 56,000
HNASE W=7 X (224Y)
56,000,000 56,000
== 28,000
Al 28,000
ol HZ0 81,910 80,000 1,910
= 65,528
== 8,191
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SA: FOIMERAD
H: RO ZMBUE
ool 2O EME PR (Se: @2
SM-BH-H2A(FAH) - MIRAY - BES 01l A+oH glgafg HusZ
B AH R T 2 O Al 8,191
301 YsrBaZ 81,910 80,000 1,910
=2 65,528
[ 8,191
Al 8,191
01 ASIZBEE2H2 81,910 80,000 1,910
Odhet - HHS0(1732) 81,910,000 81,910
= 65,528
= 8,191
Al 8,191
NASS S8iX DEH X 42,480 0 42,480
= 21,240
Al 21,240
301 wergAZ 42,480 0 42,480
[ 21,240
Al 21,240
01 ASIZEE2G2 42,480 0 42,480
ONASE 8% DEH X (295%)
42,480,000 42,480
= 21,240
Al 21,240
TARIH E LB 0IX| A 17,209 8.500 8,709
= 13,767
[ 1,721
Al 1,721
301 YergAZ 17,209 8.500 8,709
=2 13,767
[ 1,721
Al 1,721
01 ABIEEEZH2 17,209 8.500 8.709
OXAIRIHE 2ZE0IX 2 (807L)
17,209,000 17,209
=2 13,767
= 1,721
Al 1,721
2227 113,474 97,500 15,974
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SN FOIME XD
M 20| ZMBEE
ol BOOIZMERE (£ &%)
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il b o B2
3= 2 90,780
= 11,347
Al 11,347
301 YsrPAZ 113,474 97,500 15,974
= 90,780
= 11,347
Al 11,347
01 AEIEFELHS 113,474 97,500 15,974
O 2= (682) 113,474,0002! 113,474
2 90,780
= 11,347
Al 11,347
IIEMBLTI EHSZW LA 60,000 60,000 0
= 18,000
Al 42,000
402 QIR OIF 60,000 60,000 0
= 8,000
Al 42,000
02 QI2FCHE AN 60,000 60,000 0
O EMELTT = HEZ N A (30K CH
) 60,000,000 60,000
= 18,000
Al 42,000
MEIFSHE XIS 28,500 22,000 6,500
201 Ygreg| 11,300 6,000 5,300
01 A=zt 6,000 3,000 3,000
oYL 6,000, 0002 6,000
02 =Tzl 5,300 3,000 2,300
CEEL=EEb Y 2,300,0002! 2,300
O Xt 24 Bt 3,000, 0002 3,000
301 YstPAS 17,200 16,000 1,200
01 AMEIEZELH2 17,200 16,000 1,200
oREs# o B4
24,0002 *100% 2,400
OBMAALT HOHA OHXIZ 120,000 x203] 2,400
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AN FRMETA D
Hu: RO ZMBEE
el RD|IFMBSE (sl &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
OSHAAMT X ZHYI 600,000& x4 2,400
OMAsSE 228+ L=XH 10,000, 000& 10,000
AMI=XRAE K& 926,177 668,657 257,520
= 365,928
& 338,041
Al 222,208
MIISXAE SAHA XI& 327,600 174,200 153,400
L= 163,800
Al 163,800
301 YBtEa= 327,600 0 327,600
& 163,800
Al 163,800
01 ASIEEE=H3 327,600 0 327,600
OABIZXAIE SAL =& X
327,600, 000& 327,600
= 163,800
Al 163,800
MIEXAE =X X2 26,366 31,596 A5,230
L= 8,858
Al 17,508
301 YBtEa= 26,366 0 26,366
& 8,858
Al 17,508
01 AIE2EE=63 26,366 0 26,366
O=AHl XI& 21,626,000 21,626
& 6,488
Al 15,138
O=AH=AH XA 2,370,000& 2,370
& 1,185
Al 1,185
oE=2 &l K& 2,370,000& 2,370
= 1,185
Al 1,185
SHOANE 2Y 515,611 419,461 96,150
= 360,928
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AN =M 0
Hu: RO ZMBEE
2l A EXAIE XA (chel &)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
SHOANE 2Y = 154,683
301 Lptsazg 515,611 0 515,611
= 360,928
= 154,683
01 ASIE2EE =63 515,611 0 515,611
Oogd 2gHl X& 515,611,000& 515,611
2 360,928
= 154,683
SEOAIE FHARE o1AHHl XI& 12,600 11,400 1,200
L= 5,700
Al 6,900
301 YEtEa= 12,600 0 12,600
& 5,700
Al 6,900
01 A3IEEE=0H3 12,600 0 12,600
OFHAANAE FHAR 21HHl XA
12,600,000& 12,600
< 5,700
Al 6,900
FHUANEIIsEL 10,000 18,000 28,000
= 5,000
= 5,000
402 BIZ2HX =0l 10,000 18,000 28,000
= 5,000
= 5,000
01 QX=X 10,000 18,000 28,000
OFHOANYE JIsELAMY(EAH)
10,000, 000& 10,000
= 5,000
= 5,000
AL XA 34,000 14,000 20,000
301 YEtEa= 14,000 0 14,000
01 ASIEEHE=H3 14,000 0 14,000
O et 2tEdl X3 2,000,000& 2,000
ogtME 2223 ¥ 22yl 1
8,400,000& 8,400
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SN FRIMEX R
HH: 20| ZMEDE
S9l: ALSISRIAIL X (el & 2
A -3 -H2A(SH) - HEAMY - BES O AF K glgafg Hlw &2
oOFAY HHtHl(SsY 29) U
3,600,000 3,600
402 QX0 20,000 0 20,000
01 UAX=EE 20,000 0 20,000
OBAR ASTM - 24 U M T
20,000,000 20,000
HASE MEXE 2,109,259 2,285,484 A176,225
= 1,109,236
g 299,460
= 315,282
Al 385,281
MASE o/2H| N 70,000 52,000 18,000
01 YPBAI 70,000 52,000 18,000
TEEEEESE 70,000 52,000 18,000
OHASE =QALLHE X
70,000,000 70,000
R 1,043,765 1,170,734 126,969
= 818,540
= 112,613
Al 112,612
101 Q124 307,670 352,954 45,284
= 246, 136
= 30,767
Al 30,767
10 JIAR22XSL4 307,670 352,954 45,284
oxgaz 307,670
c22RNE(549) 307,670,000%! 307,670
= 246, 136
< 30,767
Al 30,767
307 ©I2t0IF 736,095 817,780 ~81,685
= 572,404
= 81,846
Al 81,845
02 SIZBABE 164,708 166,434 A1,726

_25_




S A

=
.
H: =00

EMEED
©9: HASE XEXE (Er9): & 2
SA-EH O (BH) - HBAY - B2 Ofl A o4 ggi HRS2
OXE=AHI|2 2 (1)
164,708,000& 164,708
= 115,295
T 24,707
Al 24,706
05 oI2tee32 571,387 651,346 AT79,959
oxszz 571,387
oS (1IA) 571,387,000& 571,387
= 457,109
= 57,139
Al 57,139
ANEASZAH 61,494 55,243 6,251
= 49,196
& 6,149
Al 6,149
301 LEEAS 61,494 55,243 6,251
= 49,196
& 6,149
Al 6,149
01 MIBEHHZ2 61,494 55,243 6,251
OXEASZN(33E) 61,494,000& 61,494
2 49,196
== 6,149
Al 6,149
NS XEAE SAHA K& 15,600 15,600 0
== 7,800
Al 7,800
307 QIZt0IA 15,600 15,600 0
= 7,800
Al 7,800
02 0QI2tHAEH X 15,600 15,600 0
OXNGXEHE SAX XR(6H)
15,600,000& 15,600
& 7,800
Al 7,800
JEAE - 2t S 2 & 20| ALY 427,800 439,339 A 11,539
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S A

=
.
H: =00

g
©9: HASE XEXE (Er9): &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
JbAL - 2t SR E01 AFS Il 299,460
& 64,170
Al 64,170
307 QIt0IA 427,800 0 427,800
| 299,460
& 64,170
Al 64,170
05 QIZtREZ 427,800 0 427,800
OJtAL - 2t 8t2 = 220| ALY (559)
427,800,000& 427,800
| 299,460
< 64,170
Al 64,170
Has HaAHES EEXNIAMS 145,600 145,600 0
L= 72,800
Al 72,800
101 @IAH| 145,600 145,600 0
& 72,800
Al 72,800
10 JIZHNZ22NSE+ 145,600 145,600 0
OMAS IHAAHE SEXNZ AL
145,600, 000& 145,600
= 72,800
Al 72,800
KNAASIAHEIA EXAS 345,000 340,718 4,282
= 241,500
& 51,750
Al 51,750
307 glzZtold 345,000 340,718 4,282
= 241,500
& 51,750
Al 51,750
05 QIZtRE 3 345,000 340,718 4,282
OOtSQIXISE SFaMHIA X
225,000, 000& 225,000
= 157,500
= 33,750
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SN E
=@ 200

& Has

I
>
X
2
o
40
5
-
=
i
>
10
i
0x
]
=
z
12
20
R
121
==
EJ
¥
oy

Al 33,750
Og/R0F HLLE XA 120,000, 000& 120,000

H

n

Al

84,000
18,000
18,000

H

HI

Al

566,071

75,719
102,521
387,831

554,532

12
R

%
B~
He
J
1%
oI
o

g

H

HT

Al

566,071

75,719
102,521
387,831

554,532

HI

Al

416,827
102,521
314,306

416,827

HL

Al

412,427
100,761
311,666

412,427

10 JIZHZ22AsSE+

OZ332ZAM

412,427,000&

HI

412,427
412,427

100,761
311,666

412,427

HI

Al

2,200
880
1,320

2,200

2,200,000&

HI

2,200
2,200

880
1,320

2,200

202 0Oddl

HL

Al

2,200
880
1,320

2,200

01 U0l

2,200,000

2,200

2,200

2,200
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S A
X XH .
(=

chel:

11

« IH A

r
0x
i

22
J2

20
B
2

HI

880
1,320

H

Al

147,744
75,719
72,025

136,205

11,539

W

Al

147,744
75,719
72,025

136,205

11,539

Ol
=
jie)
124
R
Jn

BA (28)

r
Ho

141,588,000&

H

Al

6,156,000

A

Al

147,744

141,588
70,794
70,79

6,156
4,925
1,231

136,205

11,539

1,500

1,500

1,500

1,500

1,500,000

1,500

1,500

1,500

1,389,216

1,647,206

A257,990

1,389,216

1,647,206

A257,990

1,248,816

1,376,806

A127,990

1,248,816

1,376,806

A127,990

1,248,816,000&

1,248,816

1,248,816

1,376,806

A127,990

140,400

270,400

130,000

140,400

270,400

130,000

=3
100,000, 000&
013

40,400,000&

140,400

100,000

40,400

270,400

A 130,000

02

79,081

78,124

957

22,481

21,524

957
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